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1. 54 [#B#) B 2as=6+a:,8 as+as—ar=as—
d=as=6,FFLl Sy=9s="54.
2.5 [@BH) 4 f@)=hz+2z—10, 0 fF(x)E&
(0, +o0) FEPEEME, H f()=In4—2<0, f(®)=
In 520, ffBA xo € (4,5).

3. -g— [#2#) B F sin Asin B+sin Bsin C=1—

cos 2B=2sin’B, sin B0, ff A sin A + sin C=
2sinB,HIEZEHEB a+c=2b, HcosC =

a’+bi—c? _a?+b'—(2b—a)® _ 1 )
2ab 2ab = hkER

a_3

5 5°

4. 22 +y*=81 [fE#H) WE.LH Cla,0),¥BH r,
W2 =Cc6Cc +1 H r2=CC; +9, B
{(a—4)2+(—8)2+1=r2,

(a—6)?+62+9=r2,
HTBA 2 +y? =81

5. 5 W] B A HHREK,AB,AD FEME

LAz By MBI T HEA LR N

C(l,l),M(l,%) & E(z,0),z€[0,1],WEC -

2, a=09 N
e (' gLiE C

EM=0-z,D - (1-2,5) ==+, %
2 €001I0, (1)t - i, B 2% =0
#f,EC - ENRUBRALE S

6. [3.+o0) TRAT] 4 m=1, WA o .

a1 =g, BT (0 ) RETH 5 2 H K

SEWHTI, BT S, =ﬁ

B TR, +oo).

. (1) EE=##4 ABC-A,B,C:%,A:C, //AC.

ZENABC #,H% D,E 4515 AB,BC F &, Bt
A DE//AC,F& DE//A,C..

X AN DEC¥H AC\ F,

A,CiC¥H A C\F,

B E% DE /i A C, F.

() EHE=%H ABC-A,B,C;#H,A/A | ¥
AB,C, AN A CiC¥HE A B Cis FR UK
AA1AC,.

XHEHNAC 1A B ,AA, C¥ & ABB; A,
A,B,C¥H ABB,A,,A1ANA1B,=A,,

Brik A:C, 1| 1 ABB,A,.

XE*} B.DC¥i ABB A,

Brlh A:C, 1 B, D.

B% B:D1A,F,A,C;C¥ A,C,F,A\FC¥i
A,C,F,A,CiNAF=A,,

BrEk B,D_| & A,C, F.

% B,DC¥ w1 B, DE,

BrlAEH B DE | & A,C, F.

. (1) B a//b,BrLL cos @sin 20=sin fcos 26,
BrLA sin =0, LA 6=kn,k EZ

2) f(@=a -+ (b—c)
=(cos §,sinfd) * (cos 20,sin 26—1)
=cos fcos 20+ sin fsin 20— sin

=cosﬁ—sin0=«/7cos(a+%).

B o€ (0,5 ) Bk o+ (5,5),
BrlA cos(0+—z-) € (—g ,“/77) ,

B FCOBEBHR(—1,D.

. (1) Ya=—30}, f(x)=—323+322—=z+1,

B¥ f(x)=—9z2+6x—1=—(32—1)2<0, ff !
f()ZE R ERB R
(2) BEEE f(x)=3ax?+6x—1.



